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QUESTION 1

Which static route next-hop value indicates that the packet will be silently dropped? 

A. resolve 

B. discard 

C. reject 

D. next-table 

Correct Answer: B 

 

QUESTION 2

When electing a DIS in an IS-IS network, what is used to break a priority tie? 

A. highest MAC address 

B. highest router ID 

C. lowest MAC address 

D. lowest router ID 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button 
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Referring to the exhibit, which two statements are correct? (Choose two.) 

A. The ge-0/0/10 interface will not participate in the RSTP topology. 

B. The ge-0/0/13 interface will be selected as the forwarding interface. 

C. This device must be selected as the root bridge. 

D. The ge-0/0/10 interface will be part of the RSTP topology but will block incoming BPDUs. 

Correct Answer: AB 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, Router-1 is attempting to form an EBGP session with Router-2. However, BGP routes are never
exchanged between Router-1 and Router-2. 

What is causing the problem? 

A. The TCP-MSS value is set too low 

B. The EXT group is not configured as an external type BGP peering session 

C. The EBGP session is configured to use the wrong AS 

D. The keep all statement is preventing the session from establishing 

Correct Answer: B 

 

QUESTION 5

Which two sequences correctly describe the processing order of firewall filters on an EX Series switch? (Choose two.) 

A. router filter > VLAN filter > port filter > transmit packet 

B. port filter > VLAN filter > router filter > transmit packet 

C. receive packet > port filter > VLAN filter > router filter 

D. receive packet > router filter > VLAN filter > port filter 

Correct Answer: AC 
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